IECSRGBU7 triangle lightnessT* ™,

Yn=L* w

T)\' nC_ ’
T* IEcsroBuT=50 (Y/Y) 2 0(Y,=18, Y,/1002Y<=Y, )
T#N(3,6)=22,T* ,(18)=50,T*y(90)=112

T*o=111,80y=2,0, 14=1/2,0=0,50
+16=50,00 $,=50,00 D;=-0,00
T+3,6=22,30,1%,=50,00 Y=18

10g[T*/T* ]=0, m,=0,50

THT*,

T*
T*n(3,6)=22,T*,(18)=50,T*(90)=112

IECSRGBUTY relative triangle lightnessT*/T*,,

YocmL*w - nc=100,

ECsraBu7=50 (YY) 20(Y,=18, Y, /100<Y<=Y,o)

1,518
1200

Iog(AY) IECSRGBu7
tristimulus value difference

2 Yoc=L*w - nc=100,
T*iEcsraBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/2,0) 10g[2,0¢,/50)] + [1-(1/2,0)] log¥)

* =50, dY,=4,00 dY,/Y,=0,2222 _ "
-
log(dY)=4,00 m,=0,50
e
=1/2,0=0,50

dYe(=8,94,y=2.9, 1%
dY;g=4,00 S.=5v,0Q D,=-0,00 1 application

log (A YIAY,)
AYIAY,

Yn=3.6  Yyw=90

IECSRGBUT7 relative
tristimulus value difference

Yne=L*w ne=100,
T* EcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y, o)
log(dY/dY,) = [1-(1/2,0)] log¥/Y,,)

5 )
dYs gdY,=0,44 Y,=18, d\g 24,00

*y=50, dY,=4,00 dY,/Y,=0,2222

log[(dY)(dY),]=0, m;=0,49 _ »
- 1 application
7 1 range
1y,=18

dYg/dY,=2,23,y=2,0, 1{/’1/2 0=0,50
dY,=1,0Q =50,

-
-

1
Y3178 Y,=18 dY=4,00 1  range
1y,=18

1 V=90

Yn=3.6

log AY/Y) IECSRGBu7
tristimulus value sensitivity

SOV Yoc=L*w - nc=100,
T*iEcsraBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,0)

log(dY/Y)= log[2,0(Y,/50)] - (1/2,0) log¥¢/Y,,)
= (1/2,0) log[2,0¢,/50)] - (1/2,0) log¥)

~ ~
-
application
*,=50, dYu 3,00 dY, /Y =0,2222 1 .ange
(dY/Y),U_o 0993y=2,0, 14=1/2,4=0,50
(dY/Y)g=0,2222 §,=50,00 Dy=-p,00

(dY/Y},6=0,4957 Y,=18, dY=4,0p
1Y,=18

3oy

Yn=3.6

log (Y/AY) IECSRGBu7
tristimulus value contrast

C=(VinY) e e o
T*iEcsraBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= - log[2,01/,/50)] + (1/2,0) log¥/Y,)

= - (1/2,0) log[2,0¢,,/50)] + (1/2,0) log{)

*,=50, dY,=4,00 Y /dY,=4

-
-

(Y/dY =10, oe,y—z 0, 11,—1/2 040,50

(Y/dY)g=4,50 =5 =-0,80
(YIdY} 2,01, Yy 18 dx, =4,00'!

application
range

'v,=18
5 log

Yn=3.6

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

YN=3.6  Yw=90

IECSRGBU7 relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,

T* EcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)
1og[(dY/V)/(dY/Y),] =~ (1/2,0) log{/Y,)

(dY/Ypo/(dY/Y)=0,44,y=2,0, 1§=1/2,0=0,50
(@YY )g(dY/Y) ga §=50,00 D,=-0,00
@Y/ gdvive 103 Y,~18 d\(, =, 005 S ation

~
~
~

i

log[(dY/YY(dY/Y),J=0, m=—0,49 1

*,=50, dY,=4,00 dY,/Y,=0,2222 }

1y =18
Yy=90

YN=3.6

IECSRGBUT7 relative
tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

T* lEcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)
log[(Y/dY)/(Y/dY) ] = (1/2,0) loglY/Y,)

(Y/dYyo/(Y/dY)=2,23,y=2,0, 1§=1/2,0=0,50
(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(YIdY} f/(Y/dY)=0,44 Y,=18, dY=4,00

log[(Y/dY)(Y/dY),]=0, m,=0,50

-
application
range

v,=18

Yy =90

-
-
-

YN=3.6



